Ostwaldcolours (o)
o525 max (m) chromatic

Y\v=88,6
value, P60

Mig the chromaticity diagram (x;0, Y10)

X,~86,01Y,88,582,=92,14 B
x,=0,3224y,,~0,3321

A= (@~ agy) Y1 <Y/Y13>1j3

Bg = (b — bo,p) Yag (/Y1913

29 =ago [x/y] +
b = byo [z 8064 3
app=1, byy=-0,4 (76(700\\
Ao
L L L N
n=P60 —40 ' ’ 40
2 625
% 700 4
1 28
2
CIE 1964 X10 OstwaldddJours (of Y\\~88,6
0,0 + g max (M)l atjc value, P60
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A* Ny B*0.10)
BE271-1A_1 BE271-2A_1

X,=86,01Y,~8858.2,~9214 B,

X4=86,01Y,~88587,~9214 B,

Xy=0,3224y,,=0,3321 E X=0,3224y,,=0,3321 T 40
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ag = a0 [(x-0,179] - 2y = a0 [(x=0,17D/y] 4
by = byo [z B4 39 =020 [(Mp1X+bp1)/y]
a0=1, byy=-0,4 /O‘ﬁ( ay=1, by=-04 8064 a5
mMry=1,000,b,=0,171 , I , A mp=-0157,bp=0385  €580r0—g' Ao
Ue f t t » i t t t »
n = P60 -40 40 n = P60 -40 h 40
28
9 23
L 28 -
7
Oslwaldddlours (o) Yyy~=88,6 Ostwaldcolours (o) Y,~88,6
malx (myghdiatic value, P60 max (m) chromatic value, P60 T-40
ch (A*110 B*110 chroma (A* 70 B*210)
BE271-3A_1 BE271-4A_1
X,=86,01Y,~8858.2,~9214 B, X4=86,01Y,~88587,~92,14 B,
Xy=0,3224y,,=0,3321 s X0 Xw=0,3224y,,=0,3321 s E
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
ba=byq [(Mp1x+bp1)/y] lscp4 38 bs=byq [(Mp1x+bp1)/y]
ayy=1, byy=—0,4 a=1, by=-04 BG4 59
Mpy=—1,344,65,=0,781 L . NS mp;=-0,157 bp;=0,385 e e N
2 } t t » it t t t »
n = P60 -40 40 n = P60 -40 ) 40
28 28
9
7
Oslwélddolours (o) Y\y~=88,6 Ostwalddolours (o) Yy,~88,6
ma® (m)hdfatic value, P60 max (m)Fhdatic value, P60
ch?oma(A* 10 B*310 chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1

X,=86,01Y,~8858.2,~9214 B,

Xy, =0,3224y,,=0,3321 +40

A5 = (85~ 35,1 V1o (VY1919

Bs = (b5 — b5 1) Y18 (Y/Y19

a5 = aq [(x=0,171)/y] 1

bs=byq [(Mp1x+bp1)/y] lscp4 38

80=1, byp=-04 A

Mp=-1344pp,=0781 A5 . o5

2 P60 —t t t »

40 28 40
9

Oslwélddolours (o) Y\y~=88,6
ma® (m)Ehéshatic value, P60
chfoma (A*510, B*510

X,=86,01,Y,=88,582,~92,14 B,
X=0,3224y,,~0,3321 B
A6 = (@ ~ ag) Yig (Y1913

Bg = (b — bg,) Y (Y/Y19)1/3

ag = ag [x/y] |
bs=byq [(Mp1X+bp1)/y] 80
ay=1, byp=-0,4

Mp;=-1,344bp;=0,781 ;
n = P60 _40 )

Ostwaldcolours (o) Y,~88,6

max (m) chromatic value, P60 ]
chroma (A*g 10, B*s.10)

BE271-7A_1

BE271-8A 1




515 520 Ostwaldcolours (0) Y\\~=88,6 X,~=86,51,Y,,~88,59,7,,=84,65 BD
o0 525 max (m) chronje}tlc \(alue, P55 X4,=0,3330y,,=0,3410 L0
Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (y/ym)i;a
Bo = (bp ~bg) Y15 (Y/Y19)1/3
29 =ago [x/y] +
b = byo [z 8065 39
ay =1, byp=-0,4
Ao
. . . N
n=P55 —40 ' ' 40
2625
% 700 4 29
2
= CIE 1964 X10 Ostwaldddours (#) Y=88,6
0,0 + 7Og65es max (M)l ic value, P55
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A* o\ B*0.10)
BE271-1A_1 BE271-2A_1
X,=86,51Y,~8859.2,78465 B, X,=86,51Y,~88,59,2,~84,65 B,
%y=0,3330y,,=0,3410 240 Xy=0,3330y,,=0,3410 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = byo [z 8®5 39 0,=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 fﬁf =1, by=-04 8065 39
mry=1,000bp3=0.171 , , A mp=-0,157bp=0.385 €599 , Ao
n=P55 —40 ' ' 40 n= P55 —40 ' | 40
4 29
9 | 5 22
T T 8
Oslwaldgblours (o) Y\y~=88,6 Ostwaldcolours (o) Y,~88,6
malx (Y Ehdfatic value, P55 max (m) chromatic value, P55 T-40
ch@fa (A*; 10, B*110) chroma (A* 70 B*210)
BE271-3A_1 BE271-4A_1
X,=86,51Y,~8859.2,78465 B, X,=86,51Y,~88,59,2,~84,65 B,
%y=0,3330y,,=0,3410 240 Xw=0,3330y,,=0,3410 210
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] 565 39 bs=byo [(Mp1x-+bp1)/y]
a,0=1, byy=-0,4 oo—T ay =1, byp=-0,4 8®5 39
mp;=-1,344,b;=0,781 . o5 . N Mp;=-0,157,bp,=0,385 (5900 | y
n=P55 —40 ' 40 n=P55 —40 ' ' 40
29 9 |29
9
1 T
Os@ralddolours (o) Yy\~88,6 Ostwalddolours (o) Yy,~88,6
mé&X (m)Thdnatic value, P55 max (m)Fhdatic value, P55
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1
X,=86,51Y,~8859.2,78465 B, X,=86,51Y,~88,59,2,~84,65 B,
%y=0,3330y,,=0,3410 240 Xy=0,3330y,,=0,3410 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] 39 bg=bs0 [(Mp1x+bp1)/y] 39
ay=1, byp=-0,4 BE> ayg=1, byg=-0,4 8>
0= 1, byo = —0, -OO‘T 20 =1, byo= -0,
Mp;=-1,344,bp,=0,781 o8 . A:s mMp;=-1,344,bp;=0,781 . ngo . A:e
n=P55 —40 ' 40 n=P55 —40 ' 40
29 29
9 4
1 24
Os@ralddolours (o) Yy\~88,6 Ostwaldcolours (o) Y,~88,6
m&X (m)Ehdnatic value, P55 max (m) chromatic value, P55 T-4
chroma (A*s 10, B*s10) chroma (A*g 10, B*s.10)

BE271-7A_1

BE271-8A 1




Ostwaldcolours (o)
o525 max (m) chromatic

Y\v=88,6
value, P50

X4=87,27Y,~8858.2,~7633 B,

T natic v %Xw=0,3460y,=0,3512 Lso
Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (YIY;91/3
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
bo =bso [2/4] 8067 39
ay=1, byg=-0,4
20 20 A,
P50 t t t >
n= -40 40
8% 4 30
2
CIE 1964 X10 Ostwaldddours (b) Y\\/=88,6
0,0 + 200 max (m)Tl tic value, P50
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A* &/B*0.10)
BE271-1A_1 BE271-2A_1
Xu=87,27Y,~8858.2,/1633 B, X4=87,27Y,~8858.2,~7633 B,
¥w=0,3460y,,=0,3512 210 Xy=0,3460y,,=0,3512 E
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = by [z B®B7 39 =020 [(Mp1X+bp1)/y]
a=1, byp=-04 °°~T =1, by=-04 8067
mp1=1,000by3=0,171 | , A mp=-0157bp=0385 _, @570 by
Ue f t t » i t t t »
n = P50 —40 40 n=P50 —40 ﬁ;\ -~ 40
9 30 21
T T7
Oslwaldgolours (o) Yyy~88,6 Ostwaldcolours (o) Y,~88,6
mak (i) Ehdfatic value, P50 max (m) chromatic value, P50 T-40
chi®a (W*1 10 B*110) chroma (A* 70 B*210)
BE271-3A_1 BE271-4A_1
Xu=87,27Y,~8858.2,/7633 B, X4=87,27Y,~8858.2,~7633 B,
X,=0.3460%,0.3512 210 X,=03460%,03512 210
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] o7 39 bs=byo [(Mp1x-+bp1)/y]
a0= 1, byy=-0.4 OO-T a= 1, byy= 0,4 857 30
Mpi=-1,3440,=0781 . o057 \ 3 Mpy=-0,157,bp;=0,385 . [O500S | R
2 } t t » it t t t »
n=P50 —40 30 40 n=P50 40 A }J 40
9
] L
Osfdalddolours (o) Yy\\~=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, P50 max (m)Fhdatic value, P50
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1

Xu=87,27Y,~8858.2,/7633 B,

%y=0,3460y,,=0,3512 X0

A5 = (85~ 35,1 V1o (VY1919

Bs = (b5 — b5 1) Y18 (Y/Y19

a5 = aq [(x=0,171)/y] 1

bs=h,q [(Mp1X+bp 1)/

5 =2ti[( o _00‘11) yl b7 39

0= 1, by = -0, oO"T A

Mp;=-1344,=0.781 057 " P

n = P50 -40 30 40

9

Osfdalddolours (o) Yy\~88,6
max (m)Ehdhatic value, P50
chroma (A*s 10, B*s10)

X,=87,27.Y,=88,58.2,~76,33 B,
Xw=0,3460y,,=0,3512

A6 = (@ ~ ag) Yig (Y1913

Bg = (b — bg,) Y (Y/Y19)1/3

ag = ag [x/y] i
bs=byq [(Mp1X+bp1)/y] 3
ay=1, byp=-0,4

mp;=-1,344,b,=0,781
n = P50 _40

IS

Ostwaldcolours (o) Y,~88,6

P

max (m) chromatic value, P50 ]
chroma (A*g 10, B*s.10)

BE271-7A_1

BE271-8A 1




Ostwaldcolours (o) Y\y~=88,6

X=88,41Y,~8859,2,~67,15 B,

515 520 -
0,8 %~ 525 max (m) chromatic value, P45 x,,=0,3621y,,~0,3628 +40
3 Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (YIY;91/3
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
bo =bao [2] 81
— — 39
ay=1, byg=-0,4
20 20 8.56—00\.\ Ao
+ t t b
n= P45 -40 40
25700 4 32
1
- CIE 1964 X10 Ostwaldddours (p) Y\\=88,6
0,0 + ZOg65es max (M)l ic value, P45
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g onB*0.10
BE271-1A_1 BE271-2A_1
X,=88,41Y,,~8859,2,767,15 B, X,=88,41Y,~88,592,=6715 B,
%y=0,3621y,,=0,3628 240 Xy=0,3621y,,=0,3628 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ag = a0 [(x-0,179] + 8 =29 [(x-0,179/y] +
by =bao [z 871 39 ;=50 [(Mp1x+bpy)/y]
a0=1, byy=-0,4 oo\T A 30=1, byp=-04 8F1 39 A
My1=1,000,b7,=0,171 L[ n o1 Mpy=-0,157 bp;=0,385 , 0569 n J2
f t t b i t t b
n=P45 —40 40 n= P45 —40 Z&\ - 40
8 | % 17
T T7
Oslwaldgolours (o) Y\y~=88,6 Ostwaldcolours (o) Yy,~88,6
ma¥ (m)Ehdiatic value, P45 max (m) chromatic value, P45 T-40
chyowa (A*; 10, B*110) chroma (A* 70 B*210)
BE271-3A_1 BE271-4A_1
X,=88,41Y,,~8859,2,767,15 B, X,=88,41Y,~88,592,=6715 B,
%y=0,3621y,,=0,3628 240 Xw=0,3621y,,=0,3628 E
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] 1 39 bs=byo [(Mp1x-+bp1)/y]
a0=1, byy=-0,4 %},,_T A ag=1, by=-0,4 BI1 39 A
Mpi=-1,3440,=0781 | o6 0 N mp=-0157bp=0385 | OS600—g N
+ t t b i t t b
n = P45 —-40 32 40 n = P45 -40 ) 32 40
8 1
b i 1
(@] Iddolours (0) Y\y=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, P45 max (m)Fhdatic value, P45
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1
X,=88,41Y,,~8859,2,767,15 B, X,=88,41Y,~88,592,=6715 B,
%y=0,3621y,,=0,3628 240 Xy=0,3621y,,=0,3628 240
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] b1 39 bg=bao [(Mp1x+0p1)/y] b1 39
ax=1, byo=-0,4 },,_T a50=1, byo=-0,4 A
Mp=-1344p,=0781 . o] . o5 Mp1=-1344,=0781 o565 ] . o
n=P45 _40 ) 326 7 40 n=P45 _40 ) 32 40
8 4
1 1N
(@] Iddolours (0) Y\y=88,6 Ostwaldcolours (o) Y,~88,6 7
max (m)Ehdhatic value, P45 max (m) chromatic value, P45 T—40
chroma (A*s 10, B*s10) chroma (A*g 10, B*s.10)

BE271-7A_1

BE271-8A 1




Ostwaldcolours (o) Y\y~=88,6
o525 max (m) chromatic value, P40
Mig the chromaticity diagram (x;0, Y10)

X,,=90,14.Y,,~88,59,2,,=57,09
Xw=0,3822y,,=0,3756
Ao= (@0~ agy) Yig (Y1913

By

Y
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
by = bao [2/4] g
a50=1, byg= -0,4 o
. .
n = P40 _40 )
2 625
% 700
il
CIE 1964 X10 Ostwaldd
0,0 + ToHeseE max (m)]
0,0 0,2 0,4 0,6 0,8 1,0 chroma (}
BE271-1A_1 BE271-2A_1
X,=90,14Y,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%w=0,3822y,,=0,3756 210 Xy=0,3822y,,=0,3756 E
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA k22 40 0,=byo [(Mp1x-+bp1)/y]
ap0=1, byy=-0,4 850= 1, byg= -0,4 k>
mr=1000bp=0471 . P A mp=-0,1574p,=0385  @s4dg 40 Ao
n=P40 —40 ' ' 40 n=P40 —40 ' Z‘g\.\ 349 40
8 34 B
T T6
Osjwélddolours (o) Y\y~=88,6 Ostwaldcolours (o) Yy,~88,6
md& (m)hdfatic value, P40 max (m) chromatic value, P40 T-40
chroma (A*; 1o, B*1 10) chroma (A* 70 B*210)
BE271-3A_1 BE271-4A_1
X,=90,14Y,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%y =0,3822y,,=0,3756 Lo Xy=0,3822y,,=0,3756 210
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] 0 bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 B22 A 80=1, byp=-0,4 B22 4 A
mp;=-1,344,0,;,=0,781 2 mMp1=-0,157bp;=0,385 54009 | N
n = P40 40 n = P40 _40 iy y ) 40
1
4 6 +
odiwalddolours (o) Y\/=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, P40 max (m)Fhdatic value, P40
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1
X,=90,14,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%y=0,3822y,,=0,3756 410 Xy=0,3822y,,=0,3756 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
a0= 1, byo= 0,4 p72 40 A ap0= 1, byg= ~0,4 g2 40 A
Mp1=—1,344 b,=0,781 5 mpi=-1,344 bp,=0,781 6
n = P40 40 n = P40 40

Odiwaldg

olours (0) Yjy=88,6
Ehrfnatic value, P40

max (m)T
chroma (;

A*s10 B*510)

Ostwaldcolours (o) Y,~88,6

max (m) chromatic value, P40 ]
chroma (A*g 10, B*s.10)

BE271-7A_1

BE271-8A 1




Ostwaldcolours (o) Y\y~=88,6
o525 max (m) chromatic value, P35

X4=92,76Y,~88,58,2,~4620 B,

08 i natic v Xw=0,4076y,,=0,3892 +40
3 Mig the chromaticity diagram (x;0, Y10) Ag=(a-ag,) Yig (Y/Y13)1/3
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
bo = byo [2/M oha
ay0=1, bypy=-0,4 40
Ao
35 t t t >
n=P -40 40
Q625 36
%700
BT
CIE 1964 X10 Ostwaldda¥ours (o) Y\y~88,6
1 max (m)hdfnatic value, P35
0,0 0,2 0,6 0,8 1,0 chroma (A*g10, B*0.10)
BE271-1A_1 BE271-2A_1

Xu=92,76 Y, =88,582,~4620 B, X,=92,76 Y, ~88,582,=4620 B,
¥=0,4076y,,=0,3892 40 %y =0,4076y,,=0,3892 00
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA s =bs0 [(Mpx+bp1)/Y]
a0=1, byy= 0,4 40 ay0= 1, byg= -0,4
my1=1,000,b5;=0,171 . P59 | A:1 Mpy=-0,157,bp1=0,385 4 40 A
n=P35 —40 ' 3 69 40 n=P35 40
AL 45
1

Os#falddolours (o) Yy\~88,6 Ostwaldcolours (o) Yy~88,6

méx (m)Ehdfatic value, P35 max (m) chromatic value, P35 T-40

chroma (A* 10 B*110) chroma (A*5 10 B*210)

BE271-3A_1 BE271-4A_1
X,=92,76 ¥, =88582,~4620 B, X,=92,76 Y, ~88,58.2,=4620 B,
xy=0,4076y,,=0,3892 B 40 X=0,4076y,,=0,3892 B +40
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] AL
b3=byo [(Mp1x+bp1)/y] pn bs=byo [(Mp1x-+bp1)/y]
ay=1, =-04 4 ay=1, byg=-0,4
20= 1, bao B A 20 20 B34 40 A,

Mp1=—1,344 05,=0,781

Mpy=-0,157,bp1=0,385

n=P35 40 n=P35 3 40
L 5 EIS
5
Ostwalddolours (o) Yyy~=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, P35 max (m)Fhdatic value, P35
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE271-5A_1 BE271-6A_1

Xw=92,76,Y,,=88,58,2,,=46,20

Xw=0,4076y,,=0,3892

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3

a5 = a [(x-0,172/y]
bs=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
Mpy=-1,344,b,=0,781
n=P35
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Ostwalddolours (o) Y\y=88,6
max (m)Ehdhatic value, P35
chroma (A*s 10, B*s10)

X4=92,76Y,~88,58,2,~4620 B,

Xy=0,4076y,,=0,3892

A6 = (@ ~ ag) Yig (Y1913
Bg = (b — bg,) Y (Y/Y19)1/3

g = a0 [X/y]
bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4
Mp1=-1,344,b,=0,781
n=P35

Ostwaldcolours (o) Y,~88,6
max (m) chromatic value, P35 ]
chroma (A*g 10, B*s.10)
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o525 max (m) chromatic value, P30
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A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
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A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
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80=1, byp=-04 2474 4 A =1, by=-04 474 A
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n=P30 40 n = P30 ;Ej 40
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X,=96,82Y,~8858.2,734,72 B, X4=96,82Y,~88,58.2,~3472 B,
X, =0,4398y,,=0,4024 +40 X=0,4398y,,~0,4024 +40
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
80= 1, byo=-0,4 H74 Y A 0= 1, D= -0,4 75|74 _Q A
Mp1=—1,344 b,=0,781 3 5 mpi=-1,344 bp,=0,781 6
n=P30 40 n=P30 40

Ostwalddolours (o) Y\y~=88,6
max (m)Ehdhatic value, P30
chroma (A*s 10, B*s10)
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chroma (A*g 10, B*s.10)
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Ostwaldcolours (o) Y\y~=88,6
o525 max (m) chromatic value, P25

X,=103,24Y,~88,58.2,~23.15 B,
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0,0 0,2 0,6 0,8 1,0 chroma (A*g 10 B*10)
BE271-1A_1 BE271-2A_1
X,=103,24Y,~8858.2,~2315 B, X,=103,24Y,~88,58.2,~2315 B,
x,04802%,=04120 ° Lo X,=04802,=0.4120 240
A= (@121 Yig (Y/Ym)i /3 Ax=(@-apn) Yig (Y/Ym)i /3
By = (b — by ) Y1g (Y/Y;91/3 By = (b — by ) Yag (Y/Y19)1/3
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by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
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Ostwalddolours (o) Y\y~=88,6 Ostwaldcolours (o) Y,~88,6
max (m)Ehdfatic value, P25 max (m) chromatic value, P25 T-40
chroma (A* 10 B*110) chroma (A*5 10 B*210)
BE271-3A_1 BE271-4A_1
X,=103,24Y,~8858.2,~2315 B, X,=103,24Y,~88,58.2,~2315 B,
X,04802,=04120 20 Xy=048024,04120 " 210
A3=(a3~ap) Y1g (Y/Ym)l/ As=(@s=a4n) Yig (Y/Yw)l/
B3 = (b3 — by ) Y1g (Y/Y191/3 By = (bs — bay) Yag (Y/V191/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
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ay=1, byp=-0,4 77 43 ay =1, byp=-0,4
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chroma (A*310. B*310 chroma (A*4 10, B*4.10)
BE271-5A_1 BE271-6A_1

Xw=103,24.Y,,=88,58,2,,~23,15

Xw=0,4802y,,=0,4120

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3

a5 = a [(x-0,172/y]
bs=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
Mpy=-1,344,b,=0,781
n=P25

Bs
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Ostwalddolours (o) Y\y~=88,6
max (m)Ehdhatic value, P25
chroma (A*s 10, B*s10)

X,=103,24Y,~88,582,=2315 B,
X=0,4802y,,=0,4120

A6 = (@ ~ ag) Yig (Y1913

Bg = (b — bg,) Y (Y/Y19)1/3

ag = ag [x/y] i
bs=byq [(Mp1X+bp1)/y]

ay=1, byg=-0,4
mp;=-1,344,by,=0,781 60
n=P25 -40
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